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Multiplikation mit Dezimalen (vertikal) Name:
L 6se jede Aufgabe. Antworten
1) 3,41 2) 70,68 3) 7,6
. 4.7 . 3,1 e 52 -
2.
3.
4
5.
4) 12,6 5) 64,30 6) 6,2
. 82 . 86 . 5,8 >
7.
8.
9.
10.
7) 2,68 8) 59,35 9) 9,1
. 3,7 . 6,8 . 3,9 H
12.
100 40.4 11) 46,73 12) 3,4
e 1,3 . 57 e 7,5
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Multiplikation mit Dezimalen (vertikal)

Name:

L dsungsschltissel

L 0se jede Aufgabe.

1 3,41

. 4,7

2387

+ 13640

16,027

4) 12,6

. 8,2

252

+ 10080

103,32

7 2,68

1876
+ 8040
9,916

100 40,4

1212
+ 4040
52,52

2)

5)

8)

11)

70,68

. 3,1

7068

+212040

219,108

64,30

. 8,6

38580

+ 514400

552,980

59,35

. 6,8

47480

+ 356100

403,580

46,73

. 5,7

32711

+ 233650

266,361

3)

6)

)

12)

6,2

496
+ 3100
35,96

9,1

819
+ 2730
35,49

3,4

170
+ 2380
25,50

Antworten

16,027

219,108

39,52

103,32

552,980

35,96

9,916

403,580

35,49

10.

52,52

11

266,361

12.

25,950
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# Multiplikation mit Dezimalen (vertikal) Name:

L 6se jede Aufgabe. Antworten
219,108 403,580 35,96
35,49 9,916 39,52 1
552,980 16,027 103,32
2,
1) 3,41 2) 70,68 3) 7,6
. 4,7 . 3’1 i 5,2 3.
4.
5.
6.
7.
8.
4) 12,6 5) 64,30 6) 6,2
. 8,2 . 8,6 « 5,8 9
7) 2,68 8) 59,35 9) 9,1
e 3,7 . 6,8 - 39
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